| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

25
30

15 20
track dxy (cm)
20
track dz (cm)

10

10

5

5 =20-15-10 =5 0

| N of associated (recoToSim) looper tracks vs dz |

30

track dxy (cm)
10 20
track dz (cm)

0

-10

-20

syoel axey

°%5

30

track dxy (cm)
20
track dz (cm)

5 10 15 20 25
10

0

25-20-15-10 -5

D
o
=]

syoes ang

o o
o
= -

5

0.
[N of associated (recoToSim) tracks vs dz_]

(ST

30

20

track dxy (cm)
track dz (cm)

5 10 15 20 25
10

0

-10

-20

0

~
o
—

syoen

5
=3

O ¥E=50-15-10 =5 0
N of reco track vs dz

0.!




	Contents
	Page 1


